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Please write your answers neatly in the spaces provided. There are 29 questions.
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Circle the corre
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@\N hich chlorine is most susceelible to nucleophilic sub?t?ﬁ: m%x(;)% Ilfin methanol?
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@ #1 C)  #1 and #2 are equally susceptible.
#2 ) No substitution is possible.

8. What would be the most efficient way to make meta-nitrobromobenzene?
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either of these approaches would work l 4

neither of these approaches would work
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‘4 What major product(s) would you expect from this reaction?
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b, What is the product of the reaction below?
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Write the major organic product formed in the following reactions. Write NR if you expect NO REACTION
0 occur. (4 points each)
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Provide reagents nec
‘ necessg : :
0{, €ssary to carry out the following one step transformations. (2 points each)
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6. Provide reagents necessary to carry out the following transformations. Several steps be required
and there may be more than one correct answer. (6 pts) @
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27. Provide reagents necessary to carry out the fO"Ong transformations. Several step y
B -}

and there may be more than one correct answer. (6 pts) A 2 ‘ 67
HO %
(o]
Ca'i MS‘-LA* ot
.‘/’




_iM 2220 - Exam 2 vi Page 8 of 8

28. Indicate a plausible mechanism for the following reaction. Be sure to show bond making and bond

breaking as well as all electron movement. Every arrow counts. Be precise! Don't forget to show charges
where necessary. (8 points)

29. Indicate a plausible mechanism for the following reaction. Be sure to show bond making and bond
breaking as well as all electron movement. Every arrow counts. Be precise! Don’t forget to show chgrges-

where necessary. (9 points) /
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